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Chapter 2 Practice Test (circle final answers) Date Period
(1pt) Determine which numbers are integers. chlc the numbers that are integef.
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(1pts) Name the number eitheir rational or irrational. Abbreviate:| R=rational; IRR=irrational—-r
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13) (4pts) Arrange numbers 1/2, -1, 0, -5, 3, 5/2 in ascending order (least to greatest).
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(8 pts) For the following expression, identify...
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(3pts) Evaluate each expression. CLEARLY SHOW WORK AND CIRCLE ANSWER.
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(2pts) Find each sum. Show work! TIP: add negative numbers and add positive numbers
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ZRewrlte each expression as an Addltlon problems (2pts) é—-— MU ST Paoy
Then evaluate and circle your answer (1pts) o
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(2pts) Evaluate each expression
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(3pts) Find each quotient. Clearly show work.
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(3pts) Evaluate each expression. Clearly show your steps.
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(4pts) Simplify each expression. Write in standard form (variable term first and constant last)
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Evaluate each using the values given. Ehow the substitution (2pts) then evaluate (1pt).

50) —z+x-y;usex=-3,y=6,andz = -4
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52) z—(—2+x);usex=—5,andz=6
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(-0 ()

&

pes———
| '/

.
P g

-

53) (r—p)+;1;usep=—5,andr=3

Ce3)-1] + 4

(54—5} =i
==

@



